AP CALCULUS
THE TRAPEZOIDAL RULE

1. Az = 3
i X () k k f(x,)
0 0 Q 1 0
1 1/2 1/8 2 1/4
2 1 2 2
3 3/2 27/8 2 27/4
4 2 8 1 8
4
> kf(xi) =17
=0
Anla zn: kf(z:) ~ S(17) ~ 4.250
2n = 4
s
2. Az = 1
i Xi f(x:) k k f(xi)
Q 0 1 1 1
1 /4 \J2 /2 2 Ve
2 /2 Q 2 0
3 3n/4 | -~\[2 /2 2 2
< n -1 1 -1
4
Z kf(x;)=0
=0
b—a ™
A= o ;kf(m,)zg(o)%o
3. Ax =1
i Xi f(x) k k f(x)
0 2 1/3 1 1/3
1 3 1/4 2 1/2
2 4 1/5 2 2/58
3 5 1/6 2 /3
4 6 1/7 2 2/7
5 7 1/8 2 1/4
6 8 1/9 2 2/9
7 9 1/10 2 1/5
8 10 1/11 1 /11

136251

b—a <
A~ ) 200201
om Zkf (i) ~ 5 13860 ~ 1308




R

Ax = 1
6
i X, £(x,) k k £(x,)
0 2 *-.J"E 1 ﬂ.,‘l'_5
1 13/6 205 /6 2 \[205 /3
2 7/3 /58 /3 2 2+/58 /3
3 5/2 | 20,2 2 |29
4 8/3 \73/3 2 273 /3
5 17/6 | %/13/6 2 513 /3
6 3 '\‘."E 1 \lrﬁ

6

> kf(w) = 32.339

=0

A=

b—a < 1
kf(z;) =~ —(32. ~ 2.
o ; f(xs) 12(3 339) 695




